#### Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: August 30, 2016 Invitation to Bid No. 16-08-129

#### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

#### **1st Publication**

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-08-110	Supply & Delivery of Spare Parts for the Repair and Maintenance of Heavy Equipment 6 Wheeler, 10 Wheeler and BACKHOE	94,376.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	pcs	Propeler Bolt	4	69.00	276.00
2	set	Clutch Sleeve Repair Kit	2	580.00	1,160.00
3	pcs	Battery 11 Plates	2	6,000.00	12,000.00
4	pcs	Battery Terminal	4	65.00	260.00
5	pcs	Tire 900" x 20"	4	14,700.00	58,800.00
6	set	Clutch Disc	1	6,500.00	6,500.00
7	pcs	Sign Light Relay	1	380.00	380.00
8	set	Spider Kit	1	15,000.00	15,000.00
		***Nothing Follows***			-
		TOTAL			94,376.00

Deadline of Submission Technical & Financial Documents	September 7, 2016 not later than 12:00 o'clock noon
I CINANINA AT KIAS	<u>September 7, 2016</u> at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

> Date: August 30, 2016 Invitation to Bid No. 16-08-130

## INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-08-496	General and Body Repair of Electrical Wiring	80,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	lot	General Repair of Izusu Crosswind SGM 155	1	80,000.00	80,000.00
		Specs:			
		Body Repair			
		General repair of Electrical wiring			
		Power steering check-up			
		Aircon repair			
		***Nothing Follows***			
_					
					-

-	
Financial Documents	September 7, 2016 not later than 12:00 o'clock noon
Opening of Bids	September 7, 2016 at 1:00 o'clock in the afternoon at

TOTAL

I CINONINA AT KIAC	Conference room, Mayor's office, this municipality
List of Eligibility Documents are availa	ble during office hours at the BAC Secretariat Office, 1st
floor, Municipal Hall. Bid documents with o	complete listing and specifications of the items for bidding

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448

email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

80,000.00

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 30, 2016 Invitation to Bid No. 16-08-131

#### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
200-16-08-048	Supply & Delivery of Construction Materials & Supplies for the Construction of Perimeter Fence at Dujali Elem. School / Dujlai National High School, Braulio E. Dujali	369,205.00	Special Education Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	bags	Portland Cement	560	285.00	159,600.00

2	cu.m	Sand	11	420.00	4,620.00
3	cu.m	Washed sand (fine)	14	480.00	6,720.00
4	cu.m	Gravel	21	480.00	10,080.00
5	pcs	10mm Øx6m RSB	220	165.00	36,300.00
6	pcs	8mm Ø x 6m RSB	395	125.00	49,375.00
7	kilo	G.I Tie wire No. 16	16	95.00	1,520.00
8	mts	1/8" Aluminum Screen	8	95.00	760.00
9	pcs	4" thk CHB	5,200	12.00	62,400.00
10	pcs	1/2" thk Ordinary Plywood	30	580.00	17,400.00
11	kilo	CW Nail No. 4	5	85.00	425.00
12	kilo	CW Nail No. 3	10	85.00	850.00
13	kilo	CW Nail No. 2 1/2	7	85.00	595.00
14	kilo	CW Nail No. 1 1/2	4	85.00	340.00
15	kilo	Concrete Nails No. 4	2	110.00	220.00
16	pcs	2 x 2 x 10' Coco lumber	180	60.00	10,800.00
17	pcs	2 x 3 x 10' Coco lumber	80	90.00	7,200.00
		***Nothing Follows***			-
		TOTAL			369,205.00

Deadline of Submission Technical & Financial Documents	September 7, 2016 not later than 12:00 o'clock noon
Chening of Kigs	<u>September 7, 2016</u> at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 30, 2016

Invitation to Bid No. 16-08-132

## **INVITATION TO APPLY FOR ELIGIBILITY AND TO BID**

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-08-100	Supply & Delivery of Communication & Equipment	180,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	unit	Radio Base with License (60 Watts above)	1	23,000.00	23,000.00
2	unit	CP22E	1	8,000.00	8,000.00
3	mtrs	Coax cable	25	250.00	6,250.00
4	unit	Coax connector	2	800.00	1,600.00
5	unit	Power Supply	1	9,000.00	9,000.00
6	unit	Handheld Radio with License	15	8,810.00	132,150.00
		Specification of Handheld Radio:			
		*750mW* loud and intelligent audio with			
		BTL amplifier and Large 36mm speaker			
	*Powerful 5.5W of Output power				
*IP54 and MIL-STD-810 rugged construction					
		*Large capacity Li-ion battery pack			
		provides 19 hours* of operating time			
		*Integrated VOX function			
		*200 memory channels, 1 call channel and 6			-
		*Built-in CTCSS and DTCS encoder/decoder			-
		*5 character alphanumeric display			-
		*Priority,program, memory, skip and tone			-
		* 16 DTMF autodial memories			-
		*Repeater lockout and busy channel lockout			-
		*Time-out-timer			-
		*Power save function and auto power off			-
		PC programmable (with Optional CS-V80)			-
		*Transceiver-to-transceiver cloning (Optional			-
		*Wide/narrow channel spacing			-
		***Nothing Follows***			-
		TOTAL	-		180,000.00

Deadline of Submission Technical & Financial Documents	September 7, 2016 not later than 12:00 o'clock noon
ICINANINA AT KIAS	<u>September 7, 2016</u> at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

> Date: August 30, 2016 Invitation to Bid No. 16-08-133

#### INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-08-099	Supply & Delivery of Vehicle (Motorcycle)	135,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	unit	Motorcycle with Helmet and complete	1	135,000.00	135,000.00
		Specifications:			-
		General Information			-
		Year:2015			-
		Category : Offroad			-
		Rating: 69.7 out of 100			-
		Engine Transmission			
		Displacement:144.00 ccm (8.79 cubic inches)			
		Engine Type: Single cylinder, four stroke			

Power:12.00HP (8.8kW)@ 8000 RPM	
Torque: 11.30Nm (1.2kgf-m or 8.3ft.lbs)@ 6500 RPM	
Compression: 9.5:1	
Bore x stroke:58.0x54.4 mm (2.3 x 2.1 inches)	
Fuel system: Carburettor.keihin NCV24	
Fuel control: Single Overhead Cams (SOHC)	-
Ignition: CDI	-
Cooling system: Air	-
Gearbox: 5-speed	-
Transmission type: Chain	-
Clutch: Multi disc	-
Chassis,suspension,brakes and wheels	
Frame type: Perimeter, steel	
Rake (fork angle):26.0"	
Trail:106mm (4.2 Inches)	
Front suspension: 33mm telescopic fork	
Front wheel travel: 175mm (6.9 inches)	
Rear Suspension: Uni-Trak, with 5-way adjustable preload	
Rear wheel travel: 190mm (7.5 inches)	
Front tyre: 70/100-21	
Rear tyre: 90/100-18	
Front brakes: Single disc. Two-piston calipers	
Front brakes diameter:240mm (9.4 inches)	
Rear brakes: Single disc.	
Rear brakes diameter: 190mm (7.5 inches)	
Physical measures and capacities	
Weight include oil, gas, etc: 115.0 kg (253.5 pounds)	
Seat height:875 mm (34.4 inches) If adjustable, lowest setting	
Overall height: 1,145mm (45.1 inches)	
Overall length: 2,080 mm (81.9 inches)	
Overall width: 770mm (30.3 inches)	
Ground clearance: 300 mm (11.8 inches)	-
Wheelbase: 1,340 mm (52.8 inches)	-
Fuel Capacity: 5.68 liters (1.50 gallons)	-
Other Specifications	
Color options: Lime Green	
Starter: Electric & kick	-
***Nothing Follows***	-
TOTAL	135,000.00

Deadline of Submission Technical & Financial Documents	September 7, 2016 not later than 12:00 o'clock noon
ICINANINA AT KIAS	<u>September 7, 2016</u> at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson